8ClL

144"

091

9/1L

(ol

80¢

1444

)44

00+3000'8 = TVA431LNI dNOLNOD

apne|

(yuou soalbap)
06 09

dwa|

(L/1

00.

009

004G

00y

002

00¢

00l

(ed)

ainssaid



8ClL

144"

091

9/1L

(ol

80¢

1444

)44

00+4000°8 = TVAYILNI dNOLNOD

apne|

(yuou soalbap)

dwa|

00.

009

004G

00y

002

00¢

00l

(ed)

alnssald



8ClL

144"

091

9/1L

(ol

80¢

1444

)44

00+4000°8 = TVAYILNI dNOLNOD

apne|

(yuou soalbap)

06 09 0%

0
\

dwa|

0%- 09- 06—

00.

009

004G

00y

00%

00¢

00l

alnssald



8ClL

144"

091

9/1

(ol

80¢

1444

)44

00+4000°8 = TVAYILNI dNOLNOD

apne|

(yuou soalbap)

09 0% 0 0%-

dwa|

06—

00.

009

004G

00y

00%

00¢

00l

alnssald



8ClL

144"

091

9/1L

(ol

80¢

1444

)44

00+4000°8 = TVAYILNI dNOLNOD

apne|

(yuou soalbap)

06 09 0% 0 0%-

dwa|

06—

00.

009

004G

00y

002

00¢

00l

(ed)

alnssald



8ClL

144"

091

9/1L

(ol

80¢

1444

)44

00+4000°8 = TVAYILNI dNOLNOD

apne|

(yuou soalbap)

09 0% 0 0%-

dwa|

00.

009

004G

00y

002

00¢

00l

alnssald



8ClL

144"

091

9/1L

(ol

80¢

1444

)44

(yuou soalbap)

09

00+4000°8 = TVAYILNI dNOLNOD

apne|

dwa|

00.

009

004G

00y

002

00¢

00l

alnssald



8ClL

144"

091

9/1

(ol

80¢

1444

)44

(yuou soalbap)

00+4000°8 = TVAYILNI dNOLNOD

apne|

09

dwa|

06—

00.

009

004G

00y

00%

00¢

00l

alnssald



00+4000°8 = TVAYILNI dNOLNOD

apnie|
(yuou soalbap)

09 06-

8ClL

00/
vyl
091 009
9/1

005
(ol
807 00v
1444 00¢%
)44

00¢

001

alnssald



8ClL

144"

091

9/1

(ol

80¢

1444

)44

(yuou soalbap)

00+4000°8 = TVAYILNI dNOLNOD

apne|

09

dwa|

00.

009

004G

00y

00%

00¢

00l

alnssald



8ClL

144"

091

9/1

(ol

80¢

1444

)44

00+4000°8 = TVAYILNI dNOLNOD

apne|

(yuou soalbap)

dwa|

00.

009

004G

00y

00%

00¢

00l

(ed)

alnssald



8ClL

144"

091

9/1L

(ol

80¢

1444

)44

00+4000°8 = TVAYILNI dNOLNOD

apne|

(yuou soalbap)

09

dwa|

00.

009

004G

00y

002

00¢

00l

(ed)

alnssald



